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Qld.

Q5.

Ql6.

Q17.

QI8.

The pair of equations 3x+2y =5, 2x -3y =7 has:

(a) no solution (b) one solution (c) many solutions  (d) two solutions

If the pair of equations 2x +3y =7, kx+ % y =12 have no solution, then value of k is:
2 3
B b) 2 3 d)-3

(@) 3 (b) 3 (©) [C))

The equations x —y = 0.9 and —-— =2 have the solution:
X+y

(a) x=5,y=1 ()x=23,y=32 () x=32,y=23 (d)x=3y=2
If bx+ay=a’ +b’ and ax—by =0 then, the value of x—y is:

(@) b-a (b) a-b (c) a® - (d) b +a?

If 2x+3y =0, 4x-3y =0 then, x+y cquals:

@0 (b)-1 ©1 @2
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Q19. 1If Yax—+/by=b-a and Vbx -+ay =0 then, value of x—y is:
(a) a+b (b) a-b (©) va—+b (d) Vo -a

Q20. 17243213 and 2-% 22 then, x+y equals:
Xy Xy

1 1 5 5
@5 ® - ©z @-2
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Q21. If 31x+43y =117 and 43x +31ly =105 then, the valuc of x+y is:

-3 ® ©-1 @3
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Q22. 1f19x-17y=55 and 17x ~19y = 53 then, the value of x —y is:

1
@-3 (b) 3 (©3 @s
Q23. 1f X4y=0.8 and —— =10 then, the value of x+y is:
2 X+
2
@1 (6)0.6 (¢)-08 (@05
Q4. 1£(6, k) is a solution of the cquation 3x -+ y =22 then, the value of k is
(@) 4 (b) 4 (©3 @-3

Q25. 1f 3x -5y =1 and, —* = 4 then, the value of x+y is:
x-y

(@)3 -3 (©) % @ %

Q26. Ifthe pair of equations 2x +3y =5 and 10x +15y = 2k represent two coincident lines then, the
value of k is:

@2 ®)-5 CE @3
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Q7.

Q8.

Q9.

Q30.

Rs.4900 was divided among a group of 150 children. If each girl gets Rs.50 and each boy gets

Rs.25 then, the number of boys in the group is:

(a) 100 (b) 102 (c) 104
Every lincar equation in two variables has

(a) no (b) one (c) two
a, _b,

< . -
—L=—L is the condition for:
a 2 C

(d) 105
solution(s).

(d) infinitely many

(a) intersecting lines  (b) parallel lines  (c) coincident lines ~ (d) none of these

For a pair of equation to be consistent and dependent, the pair must have:

(@) no solution (b) unique solution

(a) infinitely many solutions (d) none of these
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Q3l.

Q32

Q33.

Graph of every linear equation in two variables represents a .
(a) point (b) straight line (¢) curve (d) triangle

Each point on the graph of pair of two lines is a common solution of the lines in case of:
(a) infinitely many solutions (b) only one solution
(c) no solution (d) none of these

One of the common solution of ax+by =c and y-axis is:

c b c c
(a) (0, ;) (b) (0, Z) © (E’ 0) () (0, _EJ
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Q34. Ifthe value of x in the equation 2x—8y =12 is 2 then, the corresponding value of y will be:
(@-1 (b1 ©0 @2
Q35. The pair of linear equations is said to be inconsistent if they have:

(a) only one solution (b) no solution
(c) infinitely many solutions (d)botha and ¢

Q36. Onrepresenting x =a and y=b graphically, we get:
(a) parallel lines (b) coincident lines
(c) intersecting lines at (a, b) (d) intersecting lines at (b, a)

Q37. How many real solutions of 2x +3y =S5 are possible?

(@) no (b) one (©)two (d) infinitely many
Q38 The value of k for which the system of equations 3x +2y =5, x—ky =2 has a unique solution,
is:
2 2 2 2
k== b) k%= k=-% d) k#-=
(@) 3 (b) k= 3 (©) 3 @ k= 3

Q39.  Ifthe lines represented by the pair of linear equations 2x+ 5y =3, 2(k+2)y +(k+1)x =2k are
coincident then, the value of k is:
(@-3 (b)3 ©1 -2
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Q40.  The coordinates of the point where x-axis and the line §+ =1 intersect, are:

(@) (0,3) (©)(3.2) (©)(2,0) ) (0,2)
Q41 Graphically x~2 =0 represents a line:

(a) parallel to x-axis at a distance 2 units from x-axis

(b) parallel to y-axis at a distance 2 units from y-axis

(¢) parallel to x-axis at a distance 2 units from y-axis

(d) parallel to y-axis at a distance 2 units from x-axis
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If ax+by=c and /x+my=n has unique solution then the relation between the coefficients
will be of the form:

(@) am#/b (b) am=/b () ab=/m (d) ab#/m
The value of ‘a’ for which (3, a) lies on 2x -3y =5

@ % ®3 © % (d) None of these

If 27 =8 and 2" =64, then value of x and y will be:

23
2’2
Onsolving X~y =3 and, x+y =5, we have value of y as:

@ ®-2.2 CE @32
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Q49.

The solution of the equations 7x~2y =3 and 11x~1.5y =8 is:

(@) x=2,y=1 () x=1,y=2 () x=-l,y=2 () None of these
If 3% =9 and 3 =81, then value of y is:

@1 ()2 (©)3 (d) None of these

If 1 is added in numerator and denominator both, then a fraction changes to 4. If 1 is subtracted
from the numerator and denominator both, the fraction changes to 7. Numerator of the fraction is:

(a)2 )3 (©7 @15

If system of equations a,x +b,y+c, =0 and a,x+b,y+c, =0 has infinitely many solutions,
then:

¢
1

a b a, b o a b _
@ b=y ) = ©ry

_
a, by ; by a, b ¢

(d) None of these
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Q30.

Qsl.

Qs2.

The value of y obtained on solving the equations 2x +y =2x—y =8 is:
1 1 3
0 b) — B d) >
(@) (b) 1 (b) 3 [C)) 7
The value of k for which the system of equations 2x+3y =5 and 4x+ky =10 has an infinite
number of solutions, is:
@1 (b)3 ©6 @o

Half the perimeter of a rectangular garden, whose length is 4 m more than its width is 36 m. The
dimensions of the garden are:

(a)/=20m,b=16 m (b)/=16m,b=20m
(¢)/=24m,b=20m (d)/=30m,b=16m
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Q53.

Q34.

Qs5.

Qs6.

A system of two simultaneous linear equations in two variables is inconsistent, if their graphs:
(a) are parallel (b) are coincident
(c) intersect at one point (d) None of these

Ritu can row downstream 20 km in 2 hours, and upstream 4 km in 2 hours. Her speed of rowing
in still water and the speed of the current respectively are:

(a) 4 kavh, 4 kb (b) 6 knvh, 4 kv
(€) 6 kavh, 6 kb (@& 4 kvh, 6 kv
A boat is rowed downstream at 15.5 km/h and upstream at 8.5 km/h. The speed of the stream is:
(a)3.5 kmh (b)5.75 knvh (¢) 6.5 km/h (@) 7knvh
Onsolving 3'¥ =81 and 817 =3, we observe that:
() No solution ) x=24, y=11
2 2
©x=2y=2 @x=2ty=12

8 8
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Qs7.

Qs8.

The sum of two digits of a two digits number is 12. If the digits are reversed, then the number so
formed exceeds the original number by 18. The original number is:

(a) 64 (b) 56 ©79 @57
I "’+—,7 and —+—,2 then, the solution is:
y y

(@6, 12 (b)2,4 (©)2.3 (d) None of these
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Qol.

The solutions of the equation 2x —y—5=0 are:
(a) x=2,y=-1 (b) x=2y=1 (©) x=Ly=-1 @ x=-2,y=1

The sum of digits of a two digit number is 9. Also, 9 times this number is twice the number
obtained by reversing the order of the digits. The number is:

(a) 20 (b) 16 (© 18 (d) None of these

The system of equations kx—y=2 and 6x—2y=3 has a unique solution when:

(@) k=0 (b) k=0 © k=3 (d) k=3

A boat can row | km with stream in 10 minutes and 1 km against the stream in 20 minutes. The
speed of the boat in still water is:

(a) 1.5 km/hr (b) 3 km/hr (c) 3.4 km/hr (d) 4.5 km/hr

A boat goes 24 km upstream and 28 km downstream in 6 hours. It goes 30 km upstream and 21
km downstream in 6 hours and 30 minutes. The speed of the boat in still water is:

(a) 4 km/hr (b) 6 km/hr (c) 10 km/hr (d) 14 knvhr
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Q0.

Point (4, 3) lies on the line:

(@) 3x+7y=27  (b) Tx+2y=47  (c)3x+4y=24 (d) 5x—4y=1

The speed of train 150 m long is 50 km/hr. The time it will take to cross a platform 600 m long is:
(a) 50 sec (b) 54 sec (c) 60 sec (d) None of these

The graph of an equation y =3 is a line which will be:

(a) parallel to x-axis (b) parallel to y-axis

(c) passing through origin (d) on x-axis

The value of k for which kx+2y=5 and 3x+y=1 have unique solution, is:

(@) k=-1 b k#6 © k=6 @ k=2

The graph of the equation x —y =0 is:
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(a) parallel to x-axis (b) parallel to y-axis
(c) passing through origin (d) None of these
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QllL.

Q12

Q13.

Five years hence, father’s age will be three times the age of his daughter. Five years ago, father
was seven times as old as his daughter. Their present ages are:

(a) 20 years, 10 years (b) 40 years, 20 years
() 40 years, 10 years (d) 30 years, 10 years

In a two digit number, the unit’s digit is twice the ten’s digit. If 27 is added to the number, the
digits interchange their places. The number is:

(@22 (b)46 (¢)36 ()63
The pair of equations 3x +4y = 18, 4x+ % y=24 has:

(@) no solution (b) unique solution

(c) infinitely many solutions (d) can’t say




